Name: Student ID: M10: Bending Shearing Stresses & Rational Design of Beams

1. The simply supported beam is made of timber that has an allowable bending stress of 6.5 MPa and
an allowable shearing stress of 500 kPa. Determine its dimensions if it is to be rectangular and have

a height-to-width ratio of 1.25. [ T\ A1 /R T8 S AR IV Z T IER. /128 6.5 MPa, VFHE Y]
N 38 500 kPa, FiZGERFAEETH, Hm%hey 1.25, REHER. ]

8 kN/m

2. The beam is subjected to a uniform load w. Determine the placement a of the supports so that the
shearing stress in the beam is as small as possible. What is this stress? [k 24 B7R G2 p 25 il 1)
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3. The T-beam is subjected to the loading shown. Determine the maximum transverse shearing stress
in the beam at the critical section. =K E/R TG 5 R E tHUIN 77, FFaf e LA 7
. ]
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4. Determine the variation in the height d of a cantilevered beam that supports a concentrated force P
at its end so that it has a constant maximum bending normal stress throughout its length. The beam
has a constant width bo. [ARAE 7R 20 R 7E SR 3 I E S KRS ER 7y, sk H &
d WK ETT AR 2. R Y8 B2 N — 5 boo ]
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